
JP Maths Revision 

 
 

1. Solve    𝑥2 + 7𝑥 + 4 = 0
Give your answers to 3 significant figures.  

 

 

 

 

 

 

 

 

 

 

 

 

…………………………..   (3 marks) 

______________________________________________________________________________ 

 

2. Solve    2𝑥2 + 5𝑥 + 1 = 0
Give your answers to 3 significant figures.  

 

 

 

 

 

 

 

 

 

 

 

 

…………………………..   (3 marks) 

______________________________________________________________________________ 

A =\
,
b. = 7 , c=4

✗ = - 7-±J7É4)

2C 1)

= - 7- ±¥6

2-

=

-7T¥ ⇒ ✗ = -7-1533
- 0.628

-2
=

✗ = -7-13-3=-6.37 ✗ = -0-628 or

✗ = -6.37

a = 2
,
b = 5

,
c= I

✗ = -s±ÉÑ

2 (2)

= - s±E

a-

= -

s±y ⇒ x = -5-1,57-1 = -0.219

x = - 5¥17 = -2.28

✗ = - 0.219 or

✗ = -2.28
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3. Solve    3𝑥2 + 7𝑥 + 1 = 0
Give your answers to 3 significant figures.  

 

 

 

 

 

 

 

 

…………………………..   (3 marks) 

______________________________________________________________________________ 

 

4. Solve    𝑥2 − 8𝑥 + 2 = 0
Give your answers to 3 significant figures.  

 

 

 

 

 

 

 

 

…………………………..   (3 marks) 

______________________________________________________________________________ 

 

5. Solve   3 𝑥2 − 5𝑥 + 1 = 0
Give your answers to 3 significant figures.  

 

 

 

 

 

 

 

…………………………..   (3 marks) 

______________________________________________________________________________ 

a =3
,
b--7 , c =/

✗ = -7 ± -72-4-(3×1)

213)

= -7+-549-72=-7+137 ⇒
✗ = -7-1%37 = -0.153

6 6
✗ =

-7-§7_ = - 2-18

✗ = -0.153 or ✗ = -2.18

a--1
,

b. = -8
,
c-_ 2

✗ = - C- 8)±FÉÑ

ZCI)

= 81T¥

a-

= 8±¥ ⇒
k= 8+16-5 = 774

✗ = 8-z = 0.258

2=7-74 or x-0258

a=3
,

b = - 5
,

C- I

✗ = - C - S)±FÉÑ

213 )
✗ = 5-1%3 = 1.43

=s±[=s±g ⇒

x =5 = 0.232

✗ = 1.43
,

✗ = 0-232
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6. Solve    𝑥2 − 7𝑥 − 2 = 0
Leave your answers in surd form.  

 

 

 

 

 

 

 

…………………………..   (3 marks) 

______________________________________________________________________________ 

 

7. Solve   − 𝑥2 − 𝑥 + 1 = 0
Leave your answers in surd form.  

 

 

 

 

 

 

 

…………………………..   (3 marks) 

______________________________________________________________________________ 

 

8. Solve   7𝑥 + 𝑥2 − 1 = 0
Leave your answers in surd form.  

 

 

 

 

 

 

 

…………………………..   (3 marks) 

______________________________________________________________________________ 

 

 

a--1
,
b= -7

,
C = -2

✗ = - C- 7) ±

2cL)

✗ = 7+557

=7±F 2-

x = 7-&
= 7¥57 =

a= -1
,
b = - 1

,
c = I

✗ = - C- 1)±FÉÑ

¥=

'±I=i ✗ =

X = B

✗2+7×-1=0

a=l
,
b=7, c=

- I

✗ = -7 ± (7) 2- 4 (1)Ñ
✗ = -7+553

'

211) 2-

= -7+-79+4=-7+1-53 x = -7-11a-
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9. Solve   2 𝑥2 − 3𝑥 = 1
Give your answers to 3 significant figures.  

  

 

 

 

 

 

 

 

 

 

…………………………..   (3 marks) 

______________________________________________________________________________ 

 

10. Solve    𝑥2 = 8𝑥 − 4
Give your answers to 3 significant figures.  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

…………………………..   (3 marks) 

______________________________________________________________________________ 

 

 

 

 

 

2×2-3×-1=0
a- 2

, b. =-3
,

C = - I

✗ = - C-3) ±NÉE
2 (2)

=

3±[=3±¥__ 4=3*57

4-

✗ = 3-4-57

✗ 2-8×+4--0

a =L , b=-8 , c=4

✗ = - C- 8)±FÉÑ

2. ( l )

= 8+-567-16=8+-548
⇒ ✗ = 8+20485 = 7.46

2 2

x = 8-14-8 = 0.536

✗ = 7.46
,
✗ = 0.536
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11. Below is a right-angled triangle with lengths ,  and .  (2𝑥 + 1)𝑐𝑚 (𝑥 + 2)𝑐𝑚 (𝑥 + 3)𝑐𝑚
 

 

 

                  (2𝑥 + 1) 𝑐𝑚 (𝑥 + 3) 𝑐𝑚
 

 

     

                         (𝑥 + 2) 𝑐𝑚
 

(a) Show that . 2𝑥2 + 𝑥 − 2 = 0
 

 

 

 

 

 

 

 

(2) 

(b) Find the area of the triangle, giving your answer to 3 significant figures.  

 

 

 

 

 

 

 

 

 

 

 

 

 

…………………………..   (3) 

______________________________________________________________________________ 

 

using pythagoras ,
(2×+15+1×+2)<=61-312

⇒ 4×44×1-1 + KYLIX 1- 4- = ✗2+6×+9

⇒ 5×2+8×+5 = ✗ 2+6×+9

⇒ 4×2+2×-4=0

⇒ 2×2-1×-2=0
-

2×2-1×-2=0

a -_ 2
,
b. =L

,
C. = -2

✗ =
-i±FÉÑ

= -i±212)

= -¥17T ⇒ ✗ = -1-1%7--0.78=
i. =-1¥ = -1.28 (not possible)

2/0.781-11 0.781-3

= 2.56cm =3-78cm Area = { ✗ 2-56×2-78

7 =3 -5584 3.56 cm
'

0-781-2

= 278cm =
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12. The area of the below rectangle is .  9 𝑐𝑚2

 

                                         (𝑥 + 6) 𝑐𝑚
  

         (𝑥 + 2) 𝑐𝑚
 

 

 

 

(a) Show that  𝑥2 + 8𝑥 + 3 = 0
 

 

 

 

 

 

 

 

(2) 

(b) Hence, find the perimeter of the rectangle, giving your answer to 1 decimal place.  

 

 

 

 

 

 

 

 

 

 

 

…………………………..   (3) 

______________________________________________________________________________ 

A-- bh ⇒ 1×1-616427=9

⇒ x2 -18kt / 2=9

=) ✗
•

the +3=0

-0-3941-6=5.606 an
X2 -18×1-3=0

a--1,6=8 >
c--3

-0.3941-2

✗ = -8±FÉÑ = 1.606cm p=2(5.606 )

211 )
-1211.606 )

= 14.424
= -8+-564-1-2

-

=

-8+-1-2 ⇒
✗ = -82€ ± -0.394

14.4cm
✗ = -8--152=-7-606 ( not possible )

=


